




t START  /

W1=75.6

W2=98.5

E1=121.5 181:121.51

E2=110.6

Al=WlSEl [,,,,,,I

A2=W2SE2 [p+iq

WRITE(6,20)Al

20 FORMAT(3X,'AREA  MT1 IS',FB.l) 'AREA LOT1 IS',

WRITE(G,ll)A2 WRITE

r-----7

tilJd&lo\llllla4 2

11 FORMAT(3X,'AFtEA  LOT2 IS',FB.l) 'AREA LOT2 IS',

i A2 I

ATOTAL=Al+AZ ATOTAL=Al+AI

WRITE(6,12)ATOTAL

12 FORMAT(3X,'TOTAL  AREA IS',FB.l) 'TOTAL AREA
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W1=75.6

W2=Ql3.5

B1=121.5

E2=110.8,

Al=WlSEl

A2=W2*E2

WRITE(6,20)Al

20 FOMlAT(BX,'AREA LOT1 IS',F8.1)

WRITE(G,ll)A2

11 FORMAT(3X,'ARgA  LOT2 IS',F8.1)

ATOTAL=Al+AB

WRITE(6,12)ATOTAL

12 FORMAT(3X,'TOTAL  AREA IS',F8.1)

STOP

END

1.2.1 phm (Character set)

1. k\A'U  O-Q kla?~  (digit)

2. k&n+7  A-Z iGk&Gb& (Uppercase letters)



1 6

imriw  (blank H;D  space)

norf&  (dollar sign)

ERaml4  (apostrophe)

%I&L&  (right parenthesis)

'I\)L%~II  (left parenthesis)

nfln;ju (asterisk)

+ u-m  (plus sign)

f3l.l  (minus sign)

/ %u (slash)

pf4fllFl (comma)

&IA (period)

&JlkllFl~ (colon)

Lkiiu (equal sign)



PAY=HRMRATE

PAY, HFtS ttR:: RATE ;~&-J~H.I~

k&Q hI.hhh~ (Valid) _

X 81 COUNT

AEIC SUM Xl2345



1 8

ABC A BC A B C
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ii?ULj&  integer b4lhrJR?p)Til  (memory) G?lllJ*  real

I ' 3 3&-----------X

M A X - + -41 -1.2< S U M

KOUNT--63 17.4c COUNT

JAR-40 0 . 4-p-  ALKM5
-

N103- > 2131 -0.341 P123

1.2.4

kli (expression) dl  (value)

3/4 0 ( 3  ,,a::  4  ljurR&wml~)

8/3 2

3./4.

8. /3. 2.666667

*(l/2) + (l/2)

(3 .  llw 4 .  riiu,&ltnlm=i\l)

1.2.5 hd1W.l&  (Arithmetic expressions)
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kilLhnl7?ll~R~Fll~flJll; Fl7lbJl4lJlU

+ fmum  (addition)

n1m.I  (subtraction)

* nlwfa  (multiplication)

/ n-mm (division)

** nlmifi-tr3\  (exponentiation)

A

1 4

(A/B)*c

A*B-30.

-C

(A*B)t*2

(-C+B)*D

A**8

- 3 . 7

A W . 5

((A-B)t*3)$*.26

PMTS(l+IC)WN/IC-1

-2*V*(X*X+Y*Y)/(U*U+V*V)**2

F*((LAMPDA-l)/RHO-L*(L+l)/(RHOSRHO))

a

1 4

7
a b - 3 0

-C

labI

(-c+b)d

ab

PMT(l+ic)n  - 1
Lc



kah

iivrd nmi-nm

3*(4+5) 3*9 =  2 7

3*(4+(8/Z)) 3$(4+4)  =  3$8  =  ,24

thihvd~~~~a~~~~~~;;U  6i~;La\ln~7d7unm::~~~ftPm~va~nl~i7iiu

r&ion-h (rule of precedence) &!FkII~
I

niwii~iiufm  (operation)
1. Y

niwm8u~H;an-ii

**

* uia /

!”

mm

iiwm; nmhi%ni7

1. A-B+C (A-B)+C



iad

2 .

3 .

4 .

5 .

6 .

7 .

A+BW

3.+2.*3.

A/B-W

B./4.$2.

A/B/C

C/4./2.

(A+B)/c*D

(3.+6.)/3.*6.

A+BfCSt:!

3.+3.*2.$*2

ASSBSSC

3.4S2.H.3.

-

2 2

l-mfil  llhnll

A+(B*C)

3.+(2.$3.)=3.+6.=9.

(A/B)w

(9./4.)*2.=2.25x2.=4.50

(A/B)/~

(8./4.)/2.=2./2.=1.

* ((A+B)/c)*D  = F *D 7&i A?
C*S

((3.+6.)/4.)*6.=9/6.=3.*6.=18.

A+(Bl;(CtSf!))

3.+(3.*2.2)=3.+(3.*4.)=3.+12.

=15.

A**(B*W)  (hi  (A**B)*$c)

3.**(2.W3.)=3.$$8.=6561.

(bhi  (3.W2.)*$3.=9.W.3.=729.)

1.2.6 k&hf177n'mU~~7  (Replacement I& Assignment statement)
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Ry?&J  d7&7HU*d7LW&  (Arithmetic assignment statement) illi6

x=3.123 fc-lwufl  x 3GiFil 3.123 (l;;u  3.123 %A 7 L X)

Cl=(A+B)/C

z=3.**2

SK=(Z+4.)**.5

(alllIi79JaJ  x 1wmW)

i-w-m  (A+B)/c  u1;7GuuaI;wGqu  CI

z 3dlriliiufilRY\I~QQua\  3

SK %I q Jz+4

3/2.

3./2

4.+3/2

4.*3/2

1.6

1.5

5.

6.

3 ~"ltiL,;iu  3.

2 ?"ld&,&  2.

3/2=1, 1 $fwti&ur&  1.

f-knmniiu  4.

4.*3.=12.,12./2.=6.



2 4

4.*(3/2)

4+3/2.

1+7.2

3/2=1, 1 t+&tju  1.

Ii+  4.

3./2.=1.5,  4.+1.6=5.8

8% I=-1

X=3+2

J=3./2

KX=4/3+6.8

(truncate) ‘WLRU

Fhuou  x Ala 5. dtli  6

f+mik&io 1.6 &hi%utu  J ii0 1 bW7-1:: J I&J

hUJ7& integer

4/3=1,1.+6.8=7.8  ufiti4,&tu  ux i;o 7 \nmtz ux



2 5

l-6

6

7-72

73-80



2 6



60 P AY = 6.2 6 *m3 - 100

f&d 1234567890123456789012345678901234667...
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WRIW(6,14)4 4 lhhllJ7

wRIT2(6,16)X+Y x+y ii4ihhhli~lUrh

WFWl'E(6,ll)'THE  SUM IS',X 'THE SUM IS' rSu~lu7~~~u7::~t~ii?Ll~7

WRIT2(6,15.)X,Y 15. iiuulR~-nJ~?\I  tirSu,AUlj,zG+7i;\)

&Ii
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1)

H% 2)
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X-format code

I-format code

y.lh
I

Iw

+1LRPrbRllut&a~ti

hlhl

14

ICT = 43200

Ll q -4

JSUM = 33
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X=1234

J=-14

wRIT3(6,15)K,  J, J
J, 1 $

F(2X,I3,2X,I2,2X,$4)
\ I



B = -4.2

WRITE(6,16)  A, A, A, B, B
L1 hlk

18 FORMAT(1X,F6.3,F9.6,1X,F6.1,F6.1,F4.0)

urnwbi +3!426$.4260+~63+-4>-4.,

iilOtilU A = 12.6634

B = 13.7

WRITE(6,16)  A, A, A, B
L J LL

1 6 FOIU'iAT(BX,F9.3,F6.1,F5.0,F7.3)

lW&itJi

hItilu  A = -132.466

B = 2509.01

c = 12.

WRIT2(6,12)A  ,
Ll

1 2 FOlMAT(1X,F7.3,1X,F5.1,1X,F6.2,1X,F5.4)
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.

WRIT2(6,11)A,B,C

11 FOlMAT(I2,14,13)  Fmt; FGRMAT(F3.O,F5.O,F4.0)

WRITl?(6,12)I,J,K

12 E'ORM&T(F2.0,F2.0,F3.0)  P(??ti  FGRMAT(12,12,13)

T-format code

hlhl K = 35

J=2

WRITK(B,lO)  J,K
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ii7flth IERROR=QBQ

WRITR(6,6)IERROR

6 FORMAT(T2,'SSS  SSS/,',I3)

WWtll~

hlhJ E = 36

J=3

WRITR(6,ll)J,K

11 F'OliMAT(T2,'NO-BOYS=',I2,2X,'NO--GIRLS=',I3)

WiW&JVi n;No-BOYS=h;]~~~N~I~~~3~~

J K

k.hl M=S

ID = 26

IY = 81

WRITR(6,6)M,ID,IY

5 FORMAT(TGO,'XY2  CCWANY PAYROLL RRPORT DATE',

llX,I2,'/',12,'/',12)

drrd\tniG
9

1 . . . . . ..$.......... 0 . . .

wmi9ihm' -tn . . . ..DA 26/81

h?hl WRITR(8,ll)

11 E'ORMAT(3X,'XYZ,CORPORATION')

wm-&ni ,,h,,XYZ/,CORPORATION
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1.2.12 I& STOP

x Y Y
1 fl7mlnawll1

1.2;13  I+-&  END

1.2.14 d& PAUSE
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-YJ
ulnJdnuRu  1

LU?WR

1.1) F 1.2) 1123 1.3) FORTRAN

1.5) -1234 1.6) 3ABC 1.7) XRAY

1.9) +72 1.10) 4(Y) 1.11) AlB2C

1.13) lA2B3C 1.14) IRAY 1.15) COUNT

i.17) 3+4 1.18) 12+1 1.19) $300.50
rYa, w

2. WliiJlihd'ml 3Jl.J  L lJuuwn;9wnlu-lvlo;uunJ

2.1) x(y+z) 2.2) a c
6

2.4) axz+bx+c 2.5) a
G

2.7) 7(r2 2.8)  a - +5
x+Y

2.10) -x2 2.11) ax+Y+3.5

2.13)  Y-Y0  x-q
Y,-!jo  x,-x0

2.14) z-l+ 2+'5 2.15) -b+ Jb-4ac
I-X a%

1.4) x1.3

1.8) .000000006

1.12) 234-567-999

1.16) KOUNT

1.20) 3<4

2.3) g
8

2.6) yb

2.9) 2(xy-1)

2.12) y+ax

2.16) u2”

3. WiWN-ldlij\l WRITE LLf&& FORMAT wNihbi7i;ti?nijn  WtHYLHqwt&U

(h 6=ULJ1fJmi'IILl~~Uljl~~~~~n)

3.1) WRITR(6,lO)  ,A,B,C 3.2) WRITE(6,5)I,J

10 FORMAT(lX,Fl.O,F2.0,F3.0) 5 FORMAT(lX,I4)

3.3) WRITE(6,11)4,5.23 3.4) WRITE(6,16)A,I,J

11 FORMAT(T5,12,F4.2) 16 FORMAT(T3,F4.5,I2,11)
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3.5) WFtITE(6,7)A,K,C 3.6) WRITE(6,12.)X,Y

7 FOFMAT(F5.2,13,F4.) 12 FORMAT(2X,F3.1,F3.1)

3.7) WRITK(6,15)I,X,K 3.8j WRITE(G,ll)X-Y

15 FORMAT(lX,I2,13,11) 11 FORMAT(F3.2,F4.0)

4. ii1 A=3., B=-2., I=6 ita::  J= 0 wmhikum%lJii

4.1) A**2+B 4.2) 1+2/3 4.3) A%*B

4.4) A*3.+B*4 4.5) A/B 4 . 6 )  A/BSB+A

4.7) A/B/2 4.8) A/B+2. 4.9) J/I

4.10) I/J 4.11) AWI 4.12) (A+I)/B

4.13) ASS2W3 4.14) B*SB 4.15) JWB

5. WUn"F&::&'ilih,tl7  X Hiil  IX Vlfld7Ej\tk6~~  =&I A=3.2,  B=-2.,  I=8

, ItR::  J=O

5.1) x=1 5.2) IX=A 5.3) X=(1+3)/2

5.4) IX=-A+B 5.5) X=IHB 5.6) X=J*I/.l

5.7) X=J 5.8) X=BSW 5.9) IX=JSA

6. m-&-iWo\l~ti~rtnw  WlJOnP;~L&~U  S, J ILR::  JK

I=4

A=1

B=2

S=(3/1)*3

J=(3./9)*3

JK=(A+2./B)/2

7. trrjR\tnl&Fil  A &~IW~I format code 'I;

7.1) A=743.25 F10.3 7.2) A=328.74 F5.2

7.3) A=-643.281 F7.2 7.4) A=.37 F5.2
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8.1) X=3.2

Y=X*.l6

wRITK(G,lO)X,Y

10 FOlWT(3X,F4.0,TlO,F9.2,'ALL')

8.2) I=+1632

J=-4

K=I/J

WRITE(G,ll)I,J,K

11 FOFMAT(T6,14,3X,Il,'+',I5)

8.3) Xx=4.3257

YY=-.0006

zz=xx+YY

WRITE(6,12)XX,YY,ZZ

12 FORMAT(T4,F7.3,F7.3,F7.3)

8.4) A3c=19.2

IJ3=4

WFfITK(6.13) IJ3,m

13 FOkMAT(2X.I4.3X.F6.0~

8.5) I=.6

J=.6

Z=I+J

WRITE(6,ll)Z

11 FORMAT(lX,F2.0,'12,F4.1")
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8.6) I=11

wRITE(6,12)1

12 FOWT(I2)

WRITE(6,13)

13 FUBlAT('l','l','ALL')


